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Attempt any two parts from each’ questron

F0)=]2-s

atx—landx—2

- Drscuss the ex1stence of the 11m1t of the functron

Cx<l

L R

l<x<2

Tx>2

N

Finda value for the constant k, if possrble that makes the ﬁmctron f contmuous everywhere )

where f is deﬁned by

75;-2

: v, | f(x) )

Prove that the functlon f deﬁned by
REE x‘
S(x)=1{ex +1

is not differentiable at prigirr. S

) x>‘1‘ '

. _PTO.
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Find the nth _der“iuative;oftsinzx'cos.3vx.i S e
-(b)'; If y = sin~ Ty, then | . ) | | o
o O-x»%+2—@n+wxm+1 -0 o6
| z= t. -1 u
x=y
then usmg Eule_r ’s theorern? Ap'rove that 8
xgiz—+yaz‘—sm2z SR 6
ax | ay _ S _
'Fmd the equatlon of tangent to the parabola y2 = 4x + 5 wh1ch is parallel to the. _. )
11ney 2x+3—0 SO 61/2A
VJShow that the length of the portlon of the tangent to the curver a cos3 0 y a sm3 6
| | ‘mtercepted between coordmate axis is constant o . o N T
. (-é); .If pI; p2 be the radlus of curvature at the'extremltles of any- chord of the -
cardlode r = a(l + cos 6) Wthh passes through the pole then show that
o} +'p§,_16a2/9 Lo e
b(a) Fmd all the asymptotes of the curve | | PR
| .(b) | Deterrnine the pos1t10n -and nature of the double points on thel'curve.': o
e f"); s 7x2 + 4y + 150 =0 6‘/2
| | (c) \Trace the curve E A T _b | |
" ...)’-2'(.‘?'*9‘)‘=_?.‘2(3}a:,—,x,)5; , 4' . ,‘ “- »;."6_‘/_2
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‘Find the maximum arid minimum values of (1 - x2

-Derennine the Valuesref D and q for which :

'«g.
f(x) = (x - a)’" (x - b)"

Pr‘ove that :

S fanx ‘ -
—>—" 0O<x<—, " "

Obtain the‘Maclanri_n’s inﬁni_te series expansion of €*; x € R. -

-

lim

x50

. “exists and is finite.
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' Evaluate ': ‘

Clim (14 x)s.

" where ' m and n are posmve 1ntegers
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State Euler ] theorem and verlfy Rolle s theorem for the functron

x(l + pcosx) - gcosx

xe [a;b}
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